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Given AABC with A(-1, 1), B(2, 4), and C(4, 1). Translate AABC lgft 4 units and yp Lunit. Y 1 |
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c) Algebraic (arrow) rule:
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Ex. 1) Using AABC on the front of this sheet, we want to translate AABC right 2 units and down 3
units. Let’s call our translated triangle, AA"B”C”.
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%Draw the graph of AA”B"C"” on the same set of axes on the front of this sheet.

b) What would be the vertex matrix of the original triangle, and the translated triangle?
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¢) What would be the algebraic (arrow) rule for this translation?

X, ) = (2, y-3)

Kweye
move  up — U T

Mive  down — Y-

moye  lefr — %7

Y oNe \/\‘@Y\’r = % T




